


©c 0 0o o o o o o o

o 0 O O O O

© 0O 0O 0o o O o O




Om@

14 10

N=376

=
14.1 32.4 29.5 17.8 O
O
25 50 75 100
N=376
=
2.7
59.3 19.7 | 18.4
|
|
0 25 50 75 100
N=222
=
u
45 29.6 475 17 WO
I o
0 25 50 75 100
N=54 N=53 N=267
N=33 (N=30) N=159
N=81 N=83 N=79




J
N\ )
e —
0 10 20 30 40 0 2 4
. — | 0O 20 40 60 80 100
33 ! I I I 78
[ S — _ 69
g - 5
[ s - |45
, . 21
i i Y,
j 5 _ 2 11
I M s
’ i j7
Y. :| 6
6
I
0 5 10 15 20 25 O 2 4 10 L
| | | | | | ]1
|2 | i [
4‘_‘ __I 26
3 : |62
) i 19
[
g -
s — 14 10
\_ _J

w



30

| 22

10

14 10







50 100

_ —
0% 10%  20%  30%  40%  50% 0% 10%  20%  30%  40%  50%
I I
I : T, 2421 |
— e
| 4075 _]ﬁ
[ 34.49 I i | 32.7%
o | | L
| 32.9%
32.7% 32.0%
32.2% 27.0%
[ 23.4 - 23.1%
y e
fl9.2% 24.0%
20.3% 3.8%
[ 21.9% - 25.0%
11.6% 6%
11.5% 12.0%
6.8% 9.5%
4.7% - 5.8
7.2% 4.3%
(8 3000 (N=69) L
5 11.1%
6.3 | M3000 1 (N=52) 7|7
C O _ . Bso (N=70)
.9%0/ 1 5 (N=59) 570 | Oso 100 (N=50)
]
X (N=64) 64| 100 300 (N=63)
| Ta7 | | | | 3.8%| | 300 (N=52)
14 10

o\



0%

10%

20%

30%

40%

[ 2500

23.1%

8.8%

PE

7.7Y

7.7

7.6%
7.7
5.4%
5.8%

6.1%
3.1%
5.4%
3.8%

).1%

9%
9.6%

14.3%

273
21.5%

8.8%

33.9%

33.9%

36.4%

[ 1997

0 1981 (N=66)
B 1982 1991 (N=65)

(11992 1996 (N=56)

(N=52)

14

10




~

e S
0, 0, 0,
0% 10% 20% 30% 40% % 10%  20%  30%  40%  50%
| | | —
0,
31.0% b8 7%
0
34.4% - >
18.6% 28.1%
25.0%
D88
i o L
19.2%
19.1%
0,
0.4% 15.4%

HG% ‘>
719%
0
04 g (N=213) 387

I o (N=178)

0,
6.3% (N=32) 28 (N=52)
! ! 11.5%

14 10 )




0 10 20 30 40 50 60 70 80
: (%)
% 01984 (N=52)
! 1985 1994 (N=101)
01995 1999 (N=117)
0O 2000 (N=96)

14 10




\ 4

50 60 70 80

%)

0 (N=156) 0O

(N=172) |

14 10

0 10 20

30

40

50

60 70

80

(%)

(N=68) O
(N=140)

(N=80)

10



[o
() y
4 D
O
O
O
‘;
\ )
A
v

11



p
(1)

(

)

12



()
Ju— A
O O
O
() N
2150
382%
618%
78.5%
JFA
y

13



9 6 7
0O 20 40 60 8 100
Y 0 20 40 60 80 100
Q
12 3.7
96.3
(N=81) 95.1 (N=81) 926 (N=81)
(N=163) 68.1 (N=163) 62.0 T 66.3
10.4 11.0 10.4
E m O IE m O E m O
20 40 60 80 100 0 20 40 60 8 100 0 20 40 60 80 100
2 57.1 29.2
(N=154) (N=154) (N=154)
24.2 S v s
N=211
e =2 (N=211)
= m O | = m =) E = 5 |

14 10

14



10

10 20 30 40 50 60 70
1 1 1 1 I | (%)
| | | |
|
|
| | | |
| | | |
| | | |
|
|
| | | |
|
| | | | |
|
| | | | |
|
|
| | | |
|
|
| | | |
| | | | |
|
| | |
1 | | = (N=154)
| ‘ | — = (N=211)
| | | \l |
14 10

15



[(2)

0O O O O O

16







0 20 40 60 80 100
| | |
(N=246) 77.2 8.1
(N=81) 77.8 R 5.6
(we55) Shs @
(N=79) 77.2 Wml
|
L =] |
0 20 40 60 80 100
| 1
(N=246) 72.4 8.5
s |
(N=83) 735 205 Y
(N=79) 70.9 10.1
| \
| = O |
14 10

0
(N=376)
(N=54)
(N=53)
(N=267)
| 0 0 |
0 20 40 60 80 100
1
(N=376) 54.0 8
-
(N=53) 717 245 X
(N=267) 498 i —
|
| = = |




________________________________




ADR




ADR

ADR

ADR

14

N




